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Definition Let DD EIR be an interval
.

A function Ff -- D-Ri is coutimeousonD___
if the following

condition is satisfied =

T¥EDfeoZ⑧e, c) so suck that

✓x E D we havelx-ckdce.es#Soffcxi-fcaKE--ExampleReipricoefunction
f-Cx ) =L where XE (

o,te)

Here D= Co,ta) , fca- Ya



Let c > o be arbitrary and let e >o be arbitrary .
We have the following inequality
X Axe (E ,

'E) we have II -EH EH-4
⇐s y-ok42

Proof let x c- ( E , 3£) . Then x > 45.0 Now simplify

Ya -
'dislike "÷ia÷iEj¥

'" .

-

Helps me find ⑧ Ce, c)
= min feeE , E}

red = green
this is right coloringTo
-



Now prove
-

.

ttxzgk-ckminfEE.ES#FE-Ike
Assume x> o and lx-ckiuinfe.EE) .
From this I deduce Ix-ok Eared Zak-ok E .
Hence holds

,
that is 1¥ - Ils Zx-a

]

From the last two green boxes, I deduce by transitivity

II - Ike
Igreenified the
redbox . That is

the PROOF.
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% Clearly here
i

86, c) depends
i on c
* -1k¥the reciprocal¥¥¥¥I÷¥÷*÷¥¥¥¥¥
%

You can see that xx is UNIFORMLY

CONTINUOUS on G,to) ,
but aotm lad



Except sink and cosx
-

Here D= .IR' .
The key in the previous

proof Was

the inequality oink

.to#toncIfcxi-fccYEKlx-4Amasiaghythefollouiugistrue

Hacek Isiux - sine ) Ek-4



VTYCEIR lcosx-cosefslx.cl
-

Before proving this Iwautto point
out

how this shows on the graph of
siux.es a

Sandwich squeeze . Fix CER .

IEEE- finals 1×-4
(Bell,Burke

⇒ wwhearfdois Ebell Townees

hectic ⇐ EYE sinetlx.ee
- upper bun

lowerbunofa hour

Saduich



D 1¥ sine t k -4

'i*¥
I will post a nice picture
in fact a movie of this !
and a proof on theunit circle ? then

.



A- proof of : =

fx.ee/R/cosx-eos4Elx-4and1siux-siucKH .

e

Iii ::*
'

'

i÷¥*÷.X and Cane points on
the unit . .

-
-
- •

Compare ME=x
-cHaeanglh:#nightline Iigd%- T

The straight-line is the shortestdistance
between two

points . That is the basic property ofastreighat.ae.



DEX-fEHsiux.se#zZME--/cosx-cos4alsoGzfnEugz--/siux-sing
Hence

lwsx- coset EDIEDESK-49 smaller

Itinx - final K arc

This proves
both kosx - cosy

Ek-4

and I giux- stuck
1×-4



Proof that
'DEREK-4 .

Casely Ix- * IS IT

Case 1 a O s x
- e E IT . In thespacoffee.#

reach

- the point X one move
Tweakwise

from the point
C for the angle

x- c
radians

.

Therefore Jeff x
- a = Ix-d

Cosette o s c - ×
ET . In this

case
to reach

the point C one
moves

on the
unit circle

-counterclockwise from
the pointX for

the

angle c
-x radians

.
Therefore

I = c-X= K
-4



CASI Ix- of > IT .

Since 1¥ is smaller

of two circular arcs connecting
C and X we always

have Dex ET . Thus DIE 1×-4 .


